Name ________________________                                           Date _____________       
Review of Integers
Part I: Adding and Subtracting Integers

Activity: Score It 

Three people are playing the game of rummy. They score points for runs (at least 3 cards of the same suit in order, i.e., 9, 10, J) and sets (at least 3 cards of the same number or face) that they lay down. They lose points for cards still in their hand when another person lays down all cards. The table shows the points laid down and the points left in the hand for each player for each hand. Compute points for each hand and the running total score. Two hands are completed for Erica. Who wins? 

	Erica 
	1 
	2 
	3 
	4 
	5 
	6 
	7 

	Points Gained
	+60 
	+100 
	+50 
	+15 
	+40 
	+75 
	+30 

	Points Lost 
	-15 
	0 
	-50 
	-50 
	-15 
	-65 
	-70 

	Points in Game
	+45 
	+100 
	_
	_
	_
	_
	_

	Running Score
	+45 
	+145 
	_
	_
	_
	_
	_


	Selena 
	1 
	2 
	3 
	4 
	5 
	6 
	7 

	Points Gained
	+55 
	+90 
	0 
	0 
	+45 
	+60 
	+100

	Points Lost 
	-55 
	-15 
	-40 
	-55 
	-25 
	-80 
	-5

	Points in Game
	_
	_
	_
	_
	_
	_
	_

	Running Score
	_
	_
	_
	_
	_
	_
	_


	Robert 
	1 
	2 
	3 
	4 
	5 
	6 
	7 

	Points Gained
	+30 
	+25 
	+40 
	+10 
	0 
	0 
	+110 

	Points Lost 
	-15 
	-25 
	-10 
	-40 
	-35 
	-70 
	0 

	Points in Game
	_
	_
	_
	_
	_
	_
	_

	Running Score
	_
	_
	_
	_
	_
	_
	_


Solve the following:
Shakisha has $5 in her account. She spends $7. What is her balance? _____________

She then writes a check to Delilah for $1. Now what is her balance? ______________
Terrell then writes Shakisha a check for $4. What is her new balance? ____________
Solve:

1) -3 +4 = ____________

2) -3 + -4 = ____________

3) -3 - -4 = ___________

4) -3 +4 = ____________

Part II. Multiplying and dividing integers
Complete the following tables by determining the pattern: 

	2 x 4 = 8

	2 x 3 = 6

	2 x 2 = 4

	2 x 1 = 2

	2 x 0 = 0

	2 x -1 = 

	2 x -2 = 

	2 x -3 = 


What is the pattern that you noticed? ​​​​​​​​​​​​​​​​​​​​__________________________________________

________________________________________________________________________

	-8 x 4 = -32

	-8 x 3 = - 24

	- 8 x 2 = -16

	-8 x 1 = -8

	-8 x 0 = 0

	-8 x -1 =

	-8 x -2 = 

	-8 x -3 = 


What is the pattern that you noticed? ​​​​​​​​​​​​​​​​​​​​__________________________________________

________________________________________________________________________

Fill in the blank with the word positive or negative.
If the two signs are the same, the product/quotient is __________

If the two signs are different the product/quotient is __________

Solve: 

5)  80 ÷ -10 = ________

6) -20/ -4 = __________
7) -8 x – 5 = ____________
8) 6 x -3 = ____________

9) 5+ -6 – 3 x -4 + 2= ___________
10) 8 ÷ 4 +1 – 0 = ______________
Part III. Inverses

In the set of integers, additive inverse is a term used for two numbers that add together to give zero. This is because those two numbers are like opposites. Find three examples in the rummy game in which the points gained and the points lost in a hand are additive inverses of each other: 

	Name: _______________
	Hand: ___________ 

	Name: _______________
	Hand: ___________ 

	Name: _______________
	Hand: ___________ 


An inverse operation is the opposite operation. 
The inverse operation of addition is ________________

The inverse operation of multiplication is ______________

To demonstrate why that is true, read the following examples: 

The inverse of 1+2 = 3 is: 3-2 = 1 or 3-1 = 2

The inverse of 2 ◦ 3 = 6 is 6 ÷ 3 = 2 or 6 ÷ 2 = 3

Write the inverse(s) of the following equations:

1) 5 +6 = 11
2) 5 – 6 = -1

3) 7 ◦ -3 = -21

4) 8 ÷ 4 = 2

Part IV. Word Problems- circle the key words and solve. Write out the whole equation!!!!
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 Mt. Everest, the highest elevation in Asia, is 29,028 feet above sea level. The Dead Sea, the lowest elevation, is 1,312 feet below sea level. What is the difference between these two elevations?
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 In Buffalo, New York, the temperature was -14°F in the morning. If the temperature dropped 7°F, what is the temperature now?
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 A submarine was situated 800 feet below sea level. If it ascends 250 feet, what is its new position?
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 Maggie owes the candy store $35. Each of 5 friends will help her pay off her debt. How much will each friend pay?
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 Roman Civilization began in 509 B.C. and ended in 476 A.D. How long did Roman Civilization last?
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 Lilly bought 4 pairs of blue jeans at $32 each. How much money did she pay the clerk?
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 A submarine was situated 450 feet below sea level. If it descends 300 feet, what is its new position?
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 In the Sahara Desert one day it was 136°F. In the Gobi Desert a temperature of -50°F was recorded. What is the difference between these two temperatures?

Challenge Activity: 
What is a number divided by 0? 

What is 5 ÷ 0? 

20/4 = 5          This means that 5 x 4 = 20

15/3 = 5          This means that 5 x 3 = 15

10/2 = 5    This means that ________________

 5/1 = 5    This means that  __________

        Following this pattern, we should assume that:

 5/0 = ?          __________   

Let’s see if this is true:
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	1 × 5 =  __ 


From the multiplication fact 1 × 5 =  5 we get two division facts: 

	5 ÷ 1 = 5 
	"If there are five bananas and one person, the person gets 5 bananas."

	5 ÷ 5 = 1
	"If there are five bananas and five people, each person gets 1 banana."


From the multiplication fact 0 × 7 =  0 we get two division facts: 

	0 ÷ 5 = 0 

0 ÷ 0 = 5
	"If there are zero bananas and five people, each person gets 0 bananas." 

"If there are zero bananas and zero people, each person gets 5 bananas."

	WHICH OF THE ABOVE IS WRONG???????


How does the above example help us understand what a number ÷ 0 is ? ____________

______________________________________________________________________

Name ______________________                                                   Date ______________

Text book p113: 55-58, 76, 78

                 Copy the problems onto a sheet of paper and solve. Show all of your work!!!!
What is the order of operations in the following expressions:

4 ◦7 – 2 multiply then subtract   
36/12 + 5 divide then add
5.5 + 1.5◦13 _______________________

2x + 1   ___________________________

To solve two step algebraic equations, perform the inverse operations in reverse

Example: The order of operations for 3x + 4 = 10 is __________ then _________

The reverse would be ___________ then ___________. 

So to solve 3x + 4 = 10 do the following: 

Text: p117: 12-17, 19-20, 27-30   Copy the problems onto a sheet of paper and solve. Show all of your work!!!!
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